

در جواب

در جواب

۲۰

$$g'(u) = (Y \tan u (\tan^2 u + 1) - \sqrt{Y} \sin u) f'(\tan^2 u + \sqrt{Y} \cos u)$$

(۱)

$$\begin{aligned} \lim_{f \rightarrow 1} g'\left(\frac{1}{f}\right) &= \left(Y \tan \frac{\pi}{4} (\tan^2 \frac{\pi}{4} + 1) - \sqrt{Y} \sin \frac{\pi}{4}\right) f'\left(\tan^2 \frac{\pi}{4} + \sqrt{Y} \cos \frac{\pi}{4}\right) = (Y - 1) f'\left(\frac{1}{f}\right) = f'(Y) \\ &\Rightarrow f'(Y) = \frac{\sqrt{Y}}{Y} \end{aligned}$$

(۲)

$$f'(u) - Yg'(u) = (f - Yg)'(u), \quad f(u) = \frac{1 + \cos u}{1 - \cos u} = \frac{(\cos u + 1)(\cos u + 1)}{-(\cos u + 1)(\cos u - 1)} = \frac{\cos u - 1}{Y - \cos u}$$

$$(f - Yg)(u) = \frac{\cos u - 1 - Y \cos u + Y}{Y - \cos u} = Y \left( \frac{Y}{Y - \cos u} \right) = \frac{\cos u - Y \cos u + Y - Y}{Y - \cos u} = \frac{\cos u - Y \cos u}{Y - \cos u} = \frac{-\cos u(Y - 1)}{Y - \cos u}$$

$$\Rightarrow (f - Yg)(u) = -\cos u \Rightarrow (f - Yg)'(u) = \sin u \Rightarrow (f - Yg)\left(\frac{\pi}{2}\right) = \sin \frac{\pi}{2} = 1$$

(۳)

$$f(u) = \begin{cases} (f_n - 1) \tan u; u \geq \frac{\pi}{4} \\ (f_n - 1) \tan u; u < \frac{\pi}{4} \end{cases} \Rightarrow f'(u) = \begin{cases} (f_n - 1) \sec^2 u; u \geq \frac{\pi}{4} \\ (f_n - 1) \sec^2 u; u < \frac{\pi}{4} \end{cases}$$

$$\begin{aligned} f'_+\left(\frac{\pi}{4}\right) &= f \sqrt{a} + 0, \quad f'_-\left(\frac{\pi}{4}\right) = -f \sqrt{a} + 0 \Rightarrow |f'_+\left(\frac{\pi}{4}\right) - f'_-\left(\frac{\pi}{4}\right)| = |f \sqrt{a} - (-f \sqrt{a})| \\ &\Rightarrow |f'_+\left(\frac{\pi}{4}\right) - f'_-\left(\frac{\pi}{4}\right)| = |2f \sqrt{a}| = 2f \sqrt{a} = 2\sqrt{Y} \Rightarrow \sqrt{a} = \sqrt{Y} \Rightarrow a = Y \Rightarrow a = \frac{1}{Y} \end{aligned}$$

$$y = -ax + Y \Rightarrow \text{شیب} = -a, \text{ نقطه } (0, Y) = -fa + Y = Y - fa$$

$$\begin{aligned} &\begin{matrix} \uparrow \\ a \\ \downarrow \end{matrix} \\ &\begin{matrix} \nearrow \\ f \\ \searrow \end{matrix} \end{aligned}$$

$$\begin{aligned} &\Rightarrow f'_+(f) = a, \quad f'_-(f) = Y - fa \Rightarrow f(f) + f'_-(f) = 1 \Rightarrow Y - fa + a = 1 \\ &\Rightarrow a = Y \Rightarrow a = \frac{Y}{a} \Rightarrow f'(f) = -\frac{Y}{a} \end{aligned}$$

$$\frac{n+1}{Y} = \frac{an-1}{Yn+1} \Rightarrow Yn^2 + 1Yn + 1 = Yn^2 + (1Y - Ya)n + 1Y = 0$$

$$\Rightarrow Yn^2 + (1Y - Ya)n + 1Y = 0 \Rightarrow (n+Y)^2 = 0 \Rightarrow n = -Y \quad (n \geq 0) \quad \text{نکته: } n \geq 0 \text{ و } Y > 0 \text{ پس } n = -Y \text{ ممکن نیست}$$

$$\Rightarrow \frac{1Y - Ya}{Y} = -f \Rightarrow 1Y - Ya = -Y \Rightarrow Ya = Y \Rightarrow a = 1$$

(۴)

(۵)

~~$$f(x) = \frac{\sqrt{n+1}}{\sqrt{n-1}} \Rightarrow f^{-1}(x) = \frac{\sqrt{n+1}}{\sqrt{n-1}} \circ f(x)$$~~

$f^{(n)} = f'(u) = g(\sqrt{n}) \Rightarrow f'(u) = \frac{1}{\sqrt{n}} g'(\sqrt{n})$   $g(u) = \frac{u-1}{n-1} g$  فرصت  
 $g'(u) = \frac{-1-1}{(n-1)^2} = -\frac{2}{(n-1)^2} \Rightarrow g'(\sqrt{n}) = -\frac{2}{(\sqrt{n}-1)^2}$   $\frac{f^{(n)}(u)}{f^{(n)}(0)} = \frac{g'(\sqrt{n})}{g'(0)} = \frac{-\frac{2}{(\sqrt{n}-1)^2}}{-\frac{2}{\sqrt{n}(\sqrt{n}-1)^2}} = \frac{1}{\sqrt{n}}$

$$f'(y) = -\frac{1}{\sqrt{y}(\sqrt{y}-1)^2} = -\frac{1}{\sqrt{y}(y-2\sqrt{y})} = -\frac{1}{y-2\sqrt{y}}$$

$$f(x) = f(u) = \prod_{n \in S} n^{n-1} \cdot \prod_{c \in S} n^{n-1} \rightarrow f(u) f'(u) = \prod_{n \in S} n^{n-1} \cdot \prod_{c \in S} n^{n-1} \cdot \prod_{c \in S} n^{n-1} \cdot \prod_{c \in S} n^{n-1}$$

$$\rho_{\text{Jost}} = \lim_{n \rightarrow 0} \frac{Y_n \kappa S_n^{Y_{n-1}} (n^Y) \overbrace{C_S(n^Y)}^1}{(1 - C_S n)^m} = \lim_{n \rightarrow 0} \frac{Y_n \kappa x (n^Y)^{Y_{n-1}}}{(1 - C_S n)^m} = \lim_{n \rightarrow 0} \frac{Y_n \kappa^{Y_{n-1}}}{(1 - C_S n)^m} = \lim_{n \rightarrow 0} \frac{Y_n \kappa^{Y_{n-1}}}{(1 - (1 - \frac{1}{x}) n^Y)^m}$$

$$= \lim_{x \rightarrow 0} \frac{f(x) x^{f(x)-1}}{(x^2)^{f(x)}} = \lim_{x \rightarrow 0} \frac{f(x) x^{f(x)-1}}{x^{2f(x)}} = \lim_{x \rightarrow 0} \frac{f(x)}{x^{f(x)+1}}$$

$\rightarrow m - n = (\sqrt{p} - 1) - (\sqrt{q} - 1) = \sqrt{p} - \sqrt{q}$

$$\lim_{n \rightarrow \infty} \frac{P_{n+1} x^{n+1}}{x^n} = P_{n+1} x = r x \Rightarrow n x r^n = 1 \Rightarrow n x r^n = r \Rightarrow n x r^n = r \Rightarrow n = r \Rightarrow P_m = \cancel{r} \Rightarrow P_{m+n} = \cancel{r} = 9$$

$$f(a) = 1, f(-1) = 1 - 1a \Rightarrow \frac{f(a) - f(-1)}{a - (-1)} = \frac{1 - (1 - 1a)}{a + 1} = \frac{1 - 1 + 1a}{a + 1} = \frac{1a}{a + 1} = \frac{a}{a + 1} \quad (9)$$

$$\Rightarrow \boxed{a = -\frac{1}{r}} \Rightarrow f(n) = (n^r + 1)^r \left(-\frac{1}{r}n + 1\right) \rightarrow f(n) = r(n^r + 1)^r (rn) \left(-\frac{1}{r}n + 1\right) + \left(-\frac{1}{r}\right)(n^r + 1)^{r+1}$$

$$\Rightarrow n = |a| \sim t'(1) = \gamma \times \gamma \times \gamma \times \frac{1}{\gamma} - \frac{1}{\gamma} \times \gamma^{\gamma} = 1\gamma - f = \Lambda$$

$$f(x) = \sin x \cos 2x \Rightarrow f\left(\frac{\pi}{4}\right) = 0, f\left(\frac{\pi}{2}\right) = -1 \Rightarrow \text{المشتق} = \frac{f\left(\frac{\pi}{4}\right) - f\left(\frac{\pi}{2}\right)}{\frac{\pi}{4} - \frac{\pi}{2}} = \frac{-1 - 0}{\frac{\pi}{4} - \frac{\pi}{2}} = -\frac{4}{\pi}$$

$$g(x) = \sin^2 x - \cos^2 x = (\sin^2 x + \cos^2 x)(\sin^2 x - \cos^2 x) = -\cos 2x \Rightarrow g\left(\frac{\pi}{4}\right) = 1, g\left(\frac{\pi}{2}\right) = 0$$

$$\text{المشتق} = \frac{g\left(\frac{\pi}{4}\right) - g\left(\frac{\pi}{2}\right)}{\frac{\pi}{4} - \frac{\pi}{2}} = \frac{1 - 0}{\frac{\pi}{4} - \frac{\pi}{2}} = -\frac{4}{\pi} \Rightarrow \frac{f' - g'}{g - f} = \frac{-\frac{4}{\pi} - (-\frac{4}{\pi})}{1 - 0} = 0$$

$$y = \frac{\sqrt{n+1}}{\sqrt{n-1}} \Rightarrow y\sqrt{n-1} = \sqrt{n+1} \Rightarrow (y-1)\sqrt{n-1} = y+1 \Rightarrow \sqrt{n-1} = \frac{y+1}{y-1} \Rightarrow n = \left(\frac{y+1}{y-1}\right)^2$$

$$\Rightarrow f^{-1}(n) = \left(\frac{n+1}{n-1}\right)^2 \Rightarrow (f^{-1})'(n) = 2\left(\frac{n+1}{n-1}\right)\left(\frac{-2}{(n-1)^2}\right) \Rightarrow (f^{-1})'(y) = 2\left(\frac{y+1}{y-1}\right)\left(\frac{-2}{(y-1)^2}\right) = -\frac{4}{(y-1)^3}$$